1. JALY JL—7 EREHEEE

(1) & X SRATHER
JAL
E R R ik &
(A) BIfEL® | RPK(FA*) | BTG | ASK(FEERE) | BIfEHG) | FIAR®
20114 6,844,772 79.8[ 30,313,789 79.7| 43,036,984 83.2 70.4
20124FfF 7,525,038 109.9] 34,036,119 112.3| 44745317 104.0 76.1
2013%F4 A 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8
58 587,529 97.1 2,700,281 100.8 3,799,832 103.4 71.1
68 615,744 99.5 2,897,529 103.1 3,762,418 103.4 77.0
EAIEE R 1,781,552 98.8 8,180,633 102.8] 11,260,495 103.7 72.6
7R 665,919 103.7 3,053,941 106.3 3,942,425 104.7 71.5
8A 729,552 104.4 3,294,846 106.8 4,024,572 105.5 81.9
9H
5520 A5t 1,395,471 104.1 6,348,787 106.6 7,966,997 105.1 79.7
2013 &R 3,177,023 101.0] 14,529,420 104.4] 19,227,492 104.3 75.6

*F F 3=RPK -+ ASK




(2) ERF#R 2 75 A1l a0 X SR AR

201348H EIED;]

TR 2 BIEEL®%) | RPK(FAT) | BIERELG) | ASK(FEE ) | BIEELG) | FBE®®) | FIHE%)

K FEFE & 163,350 106.6 1,247,486 106.9 1,517,978 110.8 82.2 85.2

Br o #R 68,520 1134 627,660 110.5 754,849 104.1 83.2 78.3

JALY W=7 BT T % 266,019 107.2 958,599 107.7 1,171,721 102.5 81.8 77.9
7T 12,251 103.3 95,890 104.3 123,701 100.8 715 74.9

7l AWNE - 14,080 92.8 36,621 91.9 45,600 89.4 80.3 78.1

g E R 77,989 89.9 89,338 93.0 108,528 91.3 82.3 80.8

f FH R 127,287 103.3 239,188 103.6 302,128 106.8 79.2 81.6

= Hi 729,552 104.4 3,294,846 106.8 4,024,572 105.5 81.9 80.9




2. JALY )L—7 ERBEEE

(1) RS RIS

JALY JL—T (JAL+JTA+JEX+J-AIR+JAC+RAC)

E R R
(N) BrE ) | RPK(FA*) | B4EL®) | ASK(FEERE*) | gigEk® | #IAE®)
20114EE| 28,965,514 86.9] 22,264,394 87.7] 35,523,214 86.5 62.7
20124 | 30,020,440 103.6] 23,012,898 103.4] 36,443,994 102.6 63.1
2013444 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3
5A 2,572,177 104.5 1,922,732 103.1 3,206,977 102.5 60.0
68 2,478,817 104.0 1,847,686 102.2 3,162,660 106.2 58.4
1M HE 7,360,454 103.5 5,531,316 102.0 9,444 592 103.8 58.6
7H 2,573,440 101.0 1,958,816 100.3 3,291,001 101.7 59.5
8H 3,044,459 105.2 2,355,496 105.2 3,405,330 103.5 69.2
98

EVICES R, 5,617,899 103.2 4314312 102.9 6,696,331 102.6 64.4
20134 FE 5t 12,978,353 103.4 9,845,628 102.4 16,140,923 103.3 61.0

*F| FHZE=RPK - ASK



(2) E R IR E 77 T Al B 2 SR A

201348 H BTER A

REH giEe | ety | sigEee | |z | s

F A # 1 216,431 104.4 311,083 100.6 69.6 67.0
¥ H ES i 16,989 98.8 20,460 96.4 83.0 81.0
DB =2] #l [ 301,546 103.7 421,681 103.3 715 71.2
F H 27 B #) 6,177 - 8,928 - 69.2 -
¥ H 12 il 222,650 100.3 367,427 99.3 60.6 60.0
F H E £ 261,204 112.1 364,467 111.7 71.7 71.4
DB H & i#E Al 36,407 101.8 48,488 99.9 75.1 73.7
¥ H 1B ) 44,641 106.6 58,722 109.7 76.0 78.2
F H il s 27,547 85.1 36,642 76.0 75.2 67.2
¥ H ENBEIL 29,862 93.8 41,054 84.4 72.7 65.5
¥ H B i 46,924 101.2 75,250 102.2 62.4 63.0
¥ H & & 51,556 108.7 72,965 100.5 70.7 65.4
¥ A = R 20,379 99.0 30,360 101.2 67.1 68.6
¥ H G0 H 25,892 111.7 40,920 97.7 63.3 55.4
F H 1l i 3,084 94.1 4712 101.6 65.4 70.7
¥ H I LN 65,027 93.6 104,910 95.4 62.0 63.2
F H R e E 11,583 103.8 18,790 123.8 61.6 73.6
¥ H i 1T 34,494 110.0 50,820 98.1 67.9 60.6
¥ H H £ 53,365 111.3 65,034 101.1 82.1 74.5
F H 1N = 57,956 99.5 81,840 98.6 70.8 70.2
¥ H th O F & 25,861 105.5 40,920 98.7 63.2 59.2
F H & =) 55,059 107.1 84,538 99.5 65.1 60.5
F H =] 0 49,770 114.9 77,652 107.6 64.1 60.0
¥ H = 0 33,843 96.5 51,150 97.7 66.2 67.0
¥ H [N L 42478 101.1 70,266 113.7 60.5 68.0
¥ H i A oM 33,808 121.1 51,150 102.3 66.1 55.8
¥ H PN ) 44,586 88.1 61,956 68.8 72.0 56.2
¥ H P 53 56,492 119.6 73,476 119.8 76.9 77.0
¥ A BE X 70,310 106.9 111,628 113.0 63.0 66.6
¥ H = I 36,245 96.5 61,380 106.0 59.1 64.8
DB H ERBE 81,896 100.2 115,875 101.8 70.7 71.8
F H TEEXE 8,648 106.7 10,230 110.7 84.5 87.7
JALY V=751 H H = = 8,331 114.6 9,140 103.0 91.1 82.0
F H A | 7,178 89.0 8,700 107.1 81.7 79.3
DB H AXE 7,386 107.7 8,990 110.6 79.4 70.9
k H # 21,763 96.1 25,378 93.7 85.8 83.6
5 H AL [ 17,168 107.0 30,690 100.0 55.9 52.3
52 H 2 E(RE) 22,350 104.1 35,428 95.3 63.1 57.7
D H 12 Fd 11,237 94.7 30,111 98.1 37.3 38.7
|52 H B F 5,795 115.6 9,579 108.6 60.5 56.9
# o £l [ 25,762 113.6 29,251 98.7 88.1 76.5
#F 12 i 16,475 300.8 38,072 4921 433 70.8
# 1 EH 5 44531 139.0 51,460 135.2 86.5 84.1
#F fB ) 6,443 108.1 10,230 100.0 63.0 58.3
# 1 BRI 8 2,670 - 3,050 - - -
7 £ & # 12,659 89.0 17,058 79.2 74.2 66.0
# £ = R 3,599 - 4712 - - -
#F 7T LN H 8,542 110.6 12,474 114.3 68.5 70.8
# £ it & 13,403 102.7 18,692 99.7 71.7 69.7
# P L 2 8,046 104.5 10,912 78.8 73.7 55.6
# £ Il = 23,227 114.0 43,220 154.5 53.7 72.9
7 £ i Bl 9,816 114.0 15,212 110.8 64.5 62.7
e ol I/ EE 2,810 98.2 3,680 95.2 76.4 74.0
#F 7T H S 11,322 119.5 17,812 100.6 63.6 53.5
# £ =] 53 7,081 93.4 10,230 101.6 69.2 75.3
# 1 [ L 3,852 - 9,204 - - -
# 1 X » 5,774 124.8 10,656 1454 54.2 63.1
#F 7T ps 25 12,431 148.7 18,644 171.7 66.7 77.0
# 1 HE X 9,982 123.5 13,908 129.9 71.8 75.5
# 7T = 2 17,989 107.5 27,896 123.9 64.5 74.3
# BER B 22,127 98.3 32,042 105.6 69.1 74.2
# £ BEF B 2,603 104.8 4588 106.9 56.7 57.9
F E A5 3,715 103.6 4,588 103.3 81.0 80.8
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20138 H HIER A

&L giEe | ety | sigEree | nmEw | sz

# 7 ESER 14,286 112.7 20,460 110.7 69.8 68.6
S ] £l 1 35,654 97.6 47133 79.0 75.6 61.2
5 [i] Y 3 20,510 59.8 27,575 60.0 74.4 74.6
ES ] A ] 7,968 102.4 9,150 110.4 86.1 85.0
#l % & & Al 9,056 150.4 15,420 166.7 58.7 65.1
£l [ 5 = 11,138 108.5 17,006 138.2 65.5 835
#l 1% LN H 7,563 93.1 13,784 149.8 54.9 88.3
£L [ it & 10,764 104.2 14,012 112.1 76.8 82.6
#l 1% Il = 13,352 125.5 23,208 191.8 575 87.9
£L [ ol o 3,904 94.7 6,152 97.6 63.5 65.4
£l 5 N g 7,283 86.0 10,230 100.0 71.2 82.8
PG AL % 33,904 94.6 51,150 100.0 66.3 70.1
& B (D) T 5 29,043 108.0 37,720 110.2 77.0 78.5
1= ] £l [ 20,986 103.5 32,364 100.0 64.8 62.6
1= il Y E 37,998 91.8 53,960 91.8 70.4 70.5
12 fit] it & 2,428 106.5 3,100 100.0 78.3 73.5
12 fif] 1l =) 6,485 95.9 9,589 101.0 67.6 71.2
12 i H = 2,821 106.5 4,392 99.2 64.2 59.8
1= ] & g 2,895 109.3 4,464 100.8 64.9 59.8
12 fit] = £0 5,169 102.2 8,432 101.3 61.3 60.7
1= fit] [ 10 8,893 98.4 15,480 1105 57.4 64.5
12 fit] = I 23,701 113.0 45,660 115.3 51.9 53.0
1= fit] BERE 2,493 66.6 4,428 49.9 56.3 422
= i BE A B 1,727 102.1 2,201 96.2 78.5 74.0
= Fd EERY 3,540 1145 4588 117.0 77.2 78.8
B 13 N VN 5,929 105.5 8,700 101.5 68.1 65.6
E E7] i 10 8,066 117.0 8,990 106.8 89.7 81.9
B 13 = 5 59,011 116.0 79,448 104.4 74.3 66.8
B % Y 5 59,376 100.2 82,660 94.3 71.8 67.6
B 13 It X & 947 102.7 1,209 110.7 78.3 84.4
3B E7] M XK 2,850 116.9 4,149 112.0 68.7 65.8
B 13 5 B 4,954 114.1 6,024 120.6 82.2 86.9
E:TH A VEN- 20,347 109.6 30,713 109.1 66.2 65.9
E:TH = CEEN 1,611 104.0 2,418 109.6 66.6 70.2
EH 5 5 3 EH 1,227 205.9 2,262 207.1 54.2 54.6
H £ (= 153 1,230 98.8 2,160 96.8 56.9 55.8
BERE VN L 2,016 139.2 4,464 153.1 452 49.7
ER B E ¥ B 6,795 91.2 8,972 79.9 75.7 66.3
BERE B AE 14,057 98.0 20,263 113.6 69.4 80.5
BER B ERE 3,821 126.6 5,038 1441 75.8 86.3
B R B EERS- 25,065 103.3 36,050 112.9 69.5 76.0
BEIRE w2z B 14,097 105.2 20,276 114.2 69.5 75.4
BE R B Mok B A 7,094 102.0 12,422 128.3 57.1 71.9
BEIRE 5 % 3,433 113.4 4286 114.0 80.1 80.5
EEEN ERE 3,752 100.7 6,588 109.6 57.0 62.0
EEEN 2 B 1,993 99.5 4,464 112.7 446 50.6
EEEN ok B & 507 105.4 1,089 114.9 46.6 50.7
ERN 5 R 426 90.6 1,014 107.0 420 49.6
ok B 5 B 470 101.3 1,016 114.7 46.3 52.4
= 5 A =] 2,883 75.6 4,680 75.0 61.6 61.1
= =] %2 B M 3,086 115.1 4,680 111.1 65.9 63.7
Vel i3 5 B = 5,177 124.9 6,808 75.0 76.0 45.7
d X = PN 943 129.0 1,209 110.7 78.0 66.9
& =1 3,044,459 105.2 4.467,046 103.8 68.2 67.3
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3. JALY IV —T BB Fif X EiE

(1) R EEHERE

JALY J)L—7 (JAL+JTA+JEX+J-AIR+JAC+RAC)

E B E A
B B B B
by 0k 3=40) by E:3=40)) by 1k 3=40)) b 0k 3=40)
20114 /& 237,605 60.0 28,960 88.8 381,652 86.7 27,580 98.3
20124 248,121 104.4 26,814 92.6 386,249 101.2 26,955 97.7
2013447 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7
5H 20917 105.5 2,438 116.4 31,461 102.1 2,380 111.0
6H 21,697 103.9 2,285 120.7 30,806 102.5 2,410 102.6
EALZE S THi 63,387 1034 7,108 116.0 94,018 102.0 7,068 106.0
7H 22,675 107.8 2,253 1155 32,779 91.5 2,106 103.2
8H 22,864 115.6 2,374 121.4 32,171 94.0 2,043 99.0
9H
5209 AT 45,539 111.6 4,627 1185 64,950 927 4,149 101.1
2013 5t 108,926 106.7 11,735 116.9 158,968 98.0 11,217 104.1




4. JALY )L —7 8 A EKiR

| _JAL
ERNR | EEEMR ] JAL
L neE | reE | &%
PETREE 19,064] 4,102 23,166
158 i, 2= (%) 9971 " 100.0 997
7 B FE (%) 92.5 90.8 925
ERE 1355 378] 1,733
KE|[ZLDED 35 25 60
MBS LS5 D 69 42 111
e 42 L) [Z L 53D 982 65| 1,047
Z D 269 246 515
R AnfE 60 2 62
KNEIZLHED 1 0 1
MBS LS5 D 10 1 11
e 42 L) [C L 530D 34 0 34
Z Dh 15 1 16
B gt LISk~ D & PE{E 4 1 5
KE|[ZXHED 2 1 3
HERM B E(C LB 0 0 0
ZDith 2 0 2
FA DG =R {E 5 3 8
KE|[ZXHED 0 0 0
HEA M PE(C KD D 3 3 6
<z NDin 2 0 2
| JTA | RAC | JAC |  JALZIL—T%t
ERE | ERE | AR | ERE | EERE |70 —7
- wEE | KEE | kEE | ke | keE | BE
PEFTREES 2379 1238] 5010] 27,691 4102] 54,959
158 i, 2= (%) 98.5 97.0 99.0 995  100.0 99 6
5E Br HH 36 (%) 91.4 87.8 89.8 925 90.8 92.4
&R 204] - 511 2,070 378] 4181
KE|[ZXHED 0 - 27 62 25 147
EMEICLDTD 10 - 20 99 42 252
ryr A el 1)) 131 - 406] 1,519 65] 2631
ZDih 63 — 58 390 246 1,151
RS 36 . 51 147 2 211
KE|[ZXHED 24 - 19 44 0 45
EMEICLHTD 1 - 5 16 1 28
ryrr A el 1)) 9 - 22 65 0 99
ZDih 2 - 5 22 1 39
B B9 LISL A~ D 75 PE(E 1 - 1 6 1 12
KlE(ZkHED 1 - 0 3 1 7
HEAM A E(C L BT 0D of - 1 1 0 1
Z Dih 0 — 0 2 0 4
FEhA~AD5|=IRLUIE 0 - 1 6 3 17
KlE(ZkDED 0 — 1 1 0 1
HEAM A E(C L BHE0 of - 0 3 3 12
D 0 - 0 2 0 4

ERHERILEMLEEDOILHEFERZILVISHLURNICHRELEDEE
-BRESHEFERLNSI57LIAICHRELGE N o -EARR




